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Basic vocabulary:

figure, in Fig. 1




to draw a graph
graph






to plot a graph

diagram





to plot a curve

chart






to plot a against b

schematic/schematic drawing


to read a value off a graph

sketch

table






to tabulate

line graph – bar graph – pie chart – flow chart
Graph descriptions - introduction:

The graph covers the period of 
                 shows

                 illustrates 

                 gives the data on/about

     presents

According to 



chart

It can be seen from 

the
statistics

As can be seen from/in

table

As (is) shown in


figures

Describing the state and changes in general:
to stand at a value of




to reach a peak of
to stay at the same level



to reach a low point

to remain constant/stable



to reach a trough

to stagnate

to stabilize

to level off
to fluctuate

to increase/rise/grow




an upward trend



to decrease/fall/drop/decline



a downward trend

a slight change:
to fluctuate





fluctuations

to move erratically




erratic movements

a rapid change:
to shoot up



to plunge

to plummet
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Adjectives and adverbs describing the degree of change:

a    dramatic

rise or fall


to rise or fall

dramatically


      considerable







considerably

      sharp








sharply

      significant








significantly

      substantial








substantially

      moderate








moderately

      remarkable







remarkably

Adjectives and adverbs describing the speed of change:

an  abrupt

rise or fall


to rise or fall

abruptly

a    sudden








suddenly

      rapid








rapidly

      steady








steadily

      gradual








gradually

      slow








slowly

Prepositions:


verb phrase





noun phrase
	to increase
	

	to rise
	

	to go up
	

	
	from – to

	to decrease
	by

	to fall
	

	to drop
	

	to go down
	

	an increase
	
	

	a rise
	
	

	
	from - to
	in

	a decrease
	of
	

	a fall
	
	

	a drop
	
	


Examples:

There has recently been a substantial decrease in LCD monitor prices of about 30 per cent.

The price of  22” Samsung, e.g., has dropped from 10 000 to 7 000 Kč.
On the other hand, in 2005 we registered a slight increase in HDD prices which, due to a new technology, rose by about 10 %.
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Plotting the real situation and projections
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How to describe graphs:

1. start from a general sentence introducing the topic

2. select significant facts, figures, and trends – do not simply translate the data into words

3. say why you consider your comments to be significant and what conclusions can be drawn from them

4. organize your writing into paragraphs, use signpost words and linking devices

5. draw a conclusion
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Exercise 1











Study Fig. 1, then complete the accompanying description by adding the words and phrases from the offer below. Refer to the graph for the necessary dates and figures. 

The growth of the population of Great Britain

Like most countries, Great Britain`s population has grown rapidly.

Fig. 1 ………………………..  the population of GB since 1100.

…………….…………..  the population ……………  2.5 million, ………………  4 million in the first part of the ……..century.

Then the population……………..  approximately …………….. as a result of the „Black Death“ plagues of 1361, 1371, and 1382.
There was ………………………..  population until the 17th century, when it …………….  approximately 8 million.

That ………………………….  until the first half of the 18th century, when the population …………………….….., reaching ……………in 1900 and 46 million in ………
If ………………………..….,   …………………..… the population of GB …………….    ..…..  million in the year 2000.
[image: image5.png]65

60

56

50

{45

40

435

430

425

420

115

410

1 0002

- 0061

- 0081

<004

0094

40054

- 00EL

- 00ZL

<004k

The population of

Great Britain 1100-2000

Fig. 1















reaching a peak of

illustrates (shows) the rise in

level was maintained

a steady rise in

it is estimated that

The graph shows (illustrates) that

the present trend is maintained

declined to

levelled off at

rose from

began to rise rapidly

will reach
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Exercise 2











Study Fig.2, then complete the accompanying description by adding the words and phrases from the box. Refer to the graph for the necessary percentages, and complete the final sentence from your own knowledge.

Fertilizer consumption in relation to population

Fig. 2 ……………fertilizer ……………population.

It is clear that developed countries ………….. a ……………….of the world`s fertilizer.

For example, the USA, with ………………% of the population, ……………30% of the fertilizer.

And Europe, with ……………..  % of the population, consumes …………………..%.

Japan, however, consumes an almost …………….of the world`s fertilizer (……….%)

……………….its population (………………..%).

But the ……………..of fertilizer used by other countries (mostly developing) is small ……………… population.

The reason for this is…………………………………………………….
(some expresssions should be used more times)
	disproportionate share

proportion

represents/shows/indicates    the consumption of

in relation to

proportionate share

consume
consumes
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Exercise 3

Study the following graphs and then write a paragraph describing one of them

(Explanation: The first scenarios showing the expected trends in emissions of air pollutants up to 2020 have now been revealed under the EU`s Clean Air For Europe programme (CAFE). The CAFE programme concentrates primarily on those air pollutants that are already covered by EU air quality standards, of which the Commission has mentioned two as needing special attention: particulates and ground-level ozone.)
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Exercise 4

Study the following description and then plot two graphs:

Chinese emissions rise most, but USA worst per capita
     With an eight-per-cent national increase, China´s emissions of carbon dioxide accounted  for two thirds of last year´s global carbon dioxide increase of  3.1 per cent.
     This puts China top of the list of CO2  emitting countries, with about a quarter share in global CO2 emissions (24 per cent), followed by the USA (21), the EU (12), India (8), and the Russian Federation (6 per cent).
      However, when emissions are expressed per person they reveal a very different ranking (CO2 emissions in tonnes per person): USA (19.4), Russia (11.8), EU (8.6), China (5.1), and India (1.8).

      These figures are based on a preliminary estimate by the Netherlands Environmental Assessment Agency (MNP), using recently published BP (British Petroleum) energy data and cement production data for 2007.
(source: www.mnp.nl)
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PREPOSITIONS
Insert the appropriate preposition :

......... advance






………present
..........answer to 





……..January
........... charge of





.......... January 15th
........... the contrary





.......... Friday
...........comparison with




.......... the morning
........... your disposal





.........Sunday morning
............ the early stages




.......... university
............ the end





......... the world
.......... the end of 





......... the east



............ one way or another




.......... fact
........... theory 






.......... short

.......... any rate





......... the list
.......... the exception of 




..........page 13
........... regard to





………room temperature
........(the) average





......... first
......... the basis of





………a price of
.......... behalf of





.......... a distance
.......... the market





.......... random
........... purpose





.......... other words
........... the time being





.......... particular


………the staff



             
……..due time
........... mistake





.......... this direction
.......... any circumstances




.......... capitals
........... control






.......... business
………   ………   control




……….the whole
.......... the beginning of




……….the 2nd floor
…….. alphabetical order




……..Fig. 2
…….. ………. order



                        ……..a clear way
………head of population




..........a temperature ………20°C
………more detail





………contrast to


………the conditions of the agreement



.......... the one hand - ......... the other hand
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PREPOSITIONS
Insert the appropriate preposition and use the phrase in a sentence

to graduate ......... mathematics

to graduate ......... the CTU
a graduate ………the CTU

an examination ........... maths
to consist  ........ 2 parts

to apply results ......... further research
the equation is valid ...........
it is composed .........  2 parts
maths is concerned .......... numbers
to result .......... something
to account  .......... the majority of

to differ ...........
to concentrate .........
to depend ........
depending …….

dependent  ..........
independent ..........
to follow .......... 

to argue .......... someone

to argue …….. favour of the programme

to prefer one thing .......... another thing
the number refers .........

to be subject ......... change

to be afraid .........
to be capable …….doing something
irrespective ..........
to be interested ..........
to be absent ..........seminars

to be involved ..........an operation
to be familiar............the problem
in collaboration ..........




to be based …..



alloys ……….investigation 

the system ………..a whole

5 degrees .......... zero 

be equal ……..25

valid ………

50 miles ……..hour

Listening
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Introduction

This unit deals with the trends and statistics of electricity generation.

1 Ustening [O0

Robin Coates is the head of an electricity region. In this presentation he is talking about
the total capacity of the electricity generating plants in his region. He describes how trends
in electricity requirements have changed. As you listen, draw a graph to show these trends.

Capacity Bectricity Generating Requirements
in MW

12,600
12,500 i

]

Year

3 Controlled Practice

Look at the graph below and complete the sentences by writing one word or number in
each gap.

Capacity Bectricity Generating Capacity
in MW

16,000
15,800
15,600
15,400
15,200
15,000
14,800
14,600
14,400
14,200
14,000

13,800
13,600
13,400 _
13,200

In the 1st year capacity
. In year 2t by 800 MW.
In the 3rd year it constant
. Then in the 4th year it
And in year 5 we saw a small increase 200 MW.
. But in the 6th year capacity to 14800 MW.

This trend continued, and in the 7th year capacity
800 MW.

Year

16000 MW.

15200 MW.
14800 MW.

NopmewN s

substantially

There was a further
And in year 9 capacity
. But in year 10 capacity showed a small

— 200 MW in the 8th year.
13400 MW.
200 MW,

Sow





